DRAWING NUMBER:
C-HDM-410-412-INST

) 5 4 3 2

INSTALLATION INSTRUCTIONS:

LOWER OFFSET BASE 1. Place lower offset base over threaded inserts and D

mount base.

indicated on this document.

4X 5/16-18 HHCS
TORQUE TO 12 FT-LBS + 10%

4X 5/16-18 FLAT WASHER

4X 5/16-18 LOCK WASHER HARDWARE KIT CONTENTS:

DESCRIPTION QTY.
FLAT WASHER - 5/16- 18
LOCK WASHER - 5/16-18
HHCS - 5/16-18 X 3/4"

I S N |

WARNING: ALL HAVIS INC. PRODUCTS ARE DESIGNED WITH SAFETY OF USE AND INSTALLATION IN MIND. HOWEVER, PRODUCT DESCRIPTION
IT IS THE SOLE RESPONSIBILITY OF THE OWNER/OPERATOR OF A VEHICLE USING HAVIS INC. MOUNTING AND
DOCKING EQUIPMENT, TO INSURE THAT THE EQUIPMENT IS INSTALLED SO THAT IT WILL NOT INTERFERE WITH VEHICLE | ySED WITH MOST PASSENGER SIDE MOUNTS

OPERATION, INTERFERE WITH SAFETY DEVICES, OBSTRUCT VIEW OF DRIVING CONDITIONS, OR IN ANY WAY
DEGRADE OCCUPANT SAFETY. IMPROPER INSTALLATION CAN CAUSE SERIOUS INJURY IN THE EVENT OF AN TO OFFSET THE TUBE TOWARD THE CENTER
ACCIDENT. INSTALLATION SHOULD ONLY BE PERFORMED BY QUALIFIED PROFESSIONALS. COMPUTERS AND HUMP/CONSOLE

MOTION DEVICES MUST BE MOVED TO AND STOWED/SECURED IN THEIR SAFE DRIVING POSITIONS BEFORE
OPERATING VEHICLE.

) 5 4 3 2

use hardware given to install to passenger side

2. Check that each fastener is tightened to the torque

REFERENCE # DATE

C-HDM -410-412 08-14-09
PRODUCT NAME

LOWER OFFSET BASE

WEIGHT: (LBS)

HAVIS v

REV. DATE

1-800-524-9900
WWW.HAVIS.COM
F-730-019 REV A



	Sheet1
	Drawing View2
	Drawing View3


